


2. A=V2+ V3 B=V6- V32, V24~ V3B 9] gh2?

D V6-3vV2+5 @ V6+3v2-5
® V6-3vV2-5 @ -V6-3vV2+5
® -V6+3V2-5



10+3+5
29



2 5 V43 = 2.074 4L o]&5te] AlFLY #2 +& 5 ¢l
A& =2kt

@ +0.043 © V430

® +0.43 ® V43000

> S
-

rlr



5.

(

1
3x— =
X 4y

) (55 2y) 14wyl A



6. a>0d W V- (-va)® - /(-a)? O G2 Fetelet

D L
3%



H7]
@ -V3>-12 © —2v2>-+v12

© VIl>2V3

ORQ) @ ® ®0,0 ®06 0006



o DA AB S & Wo = s FAHE ABCD 7t At

AC=AQ=BD=BP ¥

D C
// \\
1 \
1 \
3 * A B V >
P 2 3 Q
@ 1+2V2 ® -1+22

@D 5
@ 242 ® 5+2v2



9 e e} < =
. 3\/§x£ V5
2 yetiigle o, [ ]
, gkl 5
Solz gure

22 W},

5 R
=%



10. (x+1-a)(x-9-3a) 7} A FA ol & o], a o] G2

@—% @ -1 ® - @® -2 ® -5



11.



12, xof B o)AFA 22 4 ax+4 9§ AT x+1 L uf, ¢ 9] ZF2?



13. (a+b)(a+b-3)+2E A5EMHH (a+b-m)(a+b-n) & o,
m—+n ] gF27?

@ 2 @ 3 @ 6 @ 11 ® 16



ted x,y 2] Al

|5

2 =2xy+y?-9& AFE

14.

Stofzt.

q_



15. 5<a<bdu, Ja-b2- /(5-a2+ /(b-5)?
SHA?
D —2a+ 12 @ —2a+2b ® 0

@ 2a-12 ® 2b-12



@ 3-V3<-V3 © 3-V5>V5- 8
© -1>-+5 ® V- VI0<-3+ V7

@1 @ 2 7| @ 37 @ 4 7\ ® 57




17. ohe S50] gIx)ske 71hat vhes QA e A

= T

®1-v2:B @14+ V2:E @24+ V5: G
@ 2-+3:C ® V5-4:D



18. x=72< o, 2v3V2x & F3loizt,



13-a

19. 3

—2 9 0], 4 o] Fe Fotolat.

Hia=



20. 3x-20°]3x* —ax+8 9 AL W, a o] = F5HH?

@ 11 @ 12 ® 13 @ 14 ® 15



21. VOG0 3% 7} 447t MRS ohe A% o SOl 71 2 3 M,
7V 2 ghe m olSKRL T ul, M - 2m O] G2

@1 @ 2 ® 4 @ 6 ® 8



22,

4 < \V2x-d <5 B 0=x
Tatolgt,

5 S
=%

o

rr

%

A~
T

X

9:'

&

e



23. tgollM x o @t Fshoizt

V252 & V7 9] x Hjolt},

Bes-



24. =T -2y -x? +ay 9 EE?

@ x-1 @ x+1 @ y+1 @ x+y ® x-y



x+-=49%

25.

® -2v3

@ 33
® 2

@O 2vV3
@ -3v3



